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Question Bank

1. What are hybridisation states of each carbon atom in the
following compounds?

CH2 = C = O, CHgCH = CH2(CH3)2CO, CH2 == CHCN, C6H6

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_oNjNa1clWfWD

2. Write bond line formulae for (i) isoproyl alcohol, (ii) 2, 3-

dimethylbutanal, (iii) heptan-4-one

o Watch Video Solution

3. Which of the following represents the correct IUPAC name for
the compounds concerned? 2,22-Dimethylpentane or 2-

Dimethylpentane

o Watch Video Solution

4. Write the formulae of the first 5 members of homologous series

starting with the underlined H — COOH

o Watch Video Solution



https://dl.doubtnut.com/l/_zSx1byRx48V2
https://dl.doubtnut.com/l/_imRy3pv7GO6q
https://dl.doubtnut.com/l/_W59gk0sQKd3I

5. Give the condensed and bond line formulae and identify the

functional groups present if any for 2,2,4-Trimethylpentane

o Watch Video Solution

6. Identify the functional groups in the following compounds.

'(##VPU_HSS CHE XI C12 EO1 007 QO1##)'

o View Text Solution

7. Which is expected to be more stable, O, NCH;CH>O or

CH;3;CH,0 and why?

° Watch Video Solution



https://dl.doubtnut.com/l/_NdT4jRFD2T8o
https://dl.doubtnut.com/l/_Xbg92jTqlaYV
https://dl.doubtnut.com/l/_9exZyFaFtmDb

8. Explain why alkyl groups are electron donors when attached to a

T system?

o Watch Video Solution

9. Will CCl, give a precipitate of AgCl on heating with AgNO3?

Why?

o Watch Video Solution

10. Why is solution of KOH used to absorb CO, gas evolved during

estimation of carbon in an organic compound?

° Watch Video Solution



https://dl.doubtnut.com/l/_DdGorzlvWGBG
https://dl.doubtnut.com/l/_uwTr6MrLdVTD
https://dl.doubtnut.com/l/_4UPTziLoD75f

11. Why is it necessary to use acetic acid and not H,S0, for
acidification of sodium extract for testing sulphur using lead

acetate test?

o Watch Video Solution

12. What are electrophiles and nucleophiles? Explain with

examples.

o Watch Video Solution

13. Identify the reagents shown in bracketts as nucleophile or

electrophile CH;COOH + [OH‘] — CH;COO~ " H,0

o Watch Video Solution



https://dl.doubtnut.com/l/_RQMPywxj0QXa
https://dl.doubtnut.com/l/_2i9Vfi0qkOA1
https://dl.doubtnut.com/l/_In7KreA3ZePD

14. Classify the reactions in one of the reaction type studied in this

unit. CH;CH,Br + SH — CH;CH,SH + Br~

o Watch Video Solution

15. What is the relationship between the members of following
pairs of structures? Are they structural or geometrical isomers or

resonance contributors?

b

° Watch Video Solution

16. For the following bond cleavages, use curved arrows to show

the electron flow and classify each as homolysis or heterolysis.


https://dl.doubtnut.com/l/_JomnrjAn23S8
https://dl.doubtnut.com/l/_j4ASKU9elHj2
https://dl.doubtnut.com/l/_ijQscJuuCgF1

Identify the reactive intermediates produced in

>C=0+0H — C =0 + H,0

o Watch Video Solution

17. The best and latest technique for isolation, purification and
separation of organic compounds is: a) Crystallisation b)

Distillation c) Sublimation d) Chromatography

o Watch Video Solution

18. Describe the method which can be used to separate two

compounds with different solubilities in a solvent S.

o Watch Video Solution



https://dl.doubtnut.com/l/_ijQscJuuCgF1
https://dl.doubtnut.com/l/_986NGbhFhJSG
https://dl.doubtnut.com/l/_O2nwWfjgs17o

19. What is the difference between distillation, distillation under

reduced pressure and steam distillation?

o Watch Video Solution

20. Detection of elements like nitrogen, halogens and sulphur are
done using Lassigne's test. Discuss the chemistry of Lassigne's test

for the above elements

o Watch Video Solution

21. Give the principle of estimation of nitrogen by Dumas method.

° Watch Video Solution

22. What is chromatography?


https://dl.doubtnut.com/l/_DTcg0AoJqHfD
https://dl.doubtnut.com/l/_InT9eZwoae8F
https://dl.doubtnut.com/l/_FRxmI6MyhwFM
https://dl.doubtnut.com/l/_kB4gKItHKaMS

o Watch Video Solution

23. Expain the reason for the fusion of an organic compound with

metallic sodium for testing nitrogen, sulphur and phosphorus.

° Watch Video Solution

24. Name a suitable method for separation of components from a

mixture of camphor and calcium sulphate.

o Watch Video Solution

25. An organic compound contains 69 % carbon and 4.8 %
hydrogen and the remaining is oxygen. Calculate the mass of CO,
and H50 formed when 0.20 g of the compound is subjected to

combustion?


https://dl.doubtnut.com/l/_kB4gKItHKaMS
https://dl.doubtnut.com/l/_sLcDnQvPS0ie
https://dl.doubtnut.com/l/_Tsq3ezaTsbU1
https://dl.doubtnut.com/l/_d6tncjZz4OWe

o Watch Video Solution

26. A sample of 050 g of an organic compound was treated
according to Kjeldahl's method. Ammonia evolved was absorbed in
50 mL of 0.5 M H550,. The residual acid required 60 mL or 0.5 M
NaOH solution for neutralisation. Find the percentage composition

of nitrogen in the compound.

o Watch Video Solution

27. 03780 g an organic compound gave 0.5740 g AgCl in Carius

method. Calculate the percentage of chlorine in it.

° Watch Video Solution



https://dl.doubtnut.com/l/_d6tncjZz4OWe
https://dl.doubtnut.com/l/_oXucGLmzM4h8
https://dl.doubtnut.com/l/_QXvZUZ1yMvFO

28. In Carius method 0.468 g of a compound afforded 0.668 g

barium sulphate. Find the percentage of S in the compound.

o Watch Video Solution

29. The best and latest technique for isolation, purification and

separation of organic compounds is: a) Crystallisation b)

Distillation c) Sublimation d) Chromatography

A. Crystallisation

B. Distillation

C. Sublimation

D. Chromatography

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_jnHNnGbui4rZ
https://dl.doubtnut.com/l/_pxxIigjTr03J

30. Indicate the sigma and pi bonds in the following molecules :

C6H6a 06H12, CHzClz, CH2 == C = CHQ, CH3N02, HCONHCHg

o Watch Video Solution

31. Draw the resonance structures for the following compounds.
Show the electron shift using curved-rarr notation.

a) CeH;NO,

b) CHsCH = CHCHO

c) CeH;OH

d) C¢H; — CHO

e) CoH; — (+")CH,

f) CH;CH = CHCH,'

o Watch Video Solution



https://dl.doubtnut.com/l/_pxxIigjTr03J
https://dl.doubtnut.com/l/_A2GSdDU2d79S
https://dl.doubtnut.com/l/_cmuouVxNi9RE
https://dl.doubtnut.com/l/_bR6K5Urf1zuw

32. Explain 'Inductive effect' and electomeric effect. Which electron
displacement explains the following correct orders of acidity of

caboxylic acids? ClsCOOHgrCl,CHCOOHgrCICH,COOH

° Watch Video Solution

33. Discuss the principle of estimation of halogens, sulphur and

phosphorus present in an organic compound?

o Watch Video Solution

34.Why is nitric acid added to sodium extract before adding silver

nitrate for testing halogens?

° Watch Video Solution



https://dl.doubtnut.com/l/_bR6K5Urf1zuw
https://dl.doubtnut.com/l/_PKzDMiA3Qkao
https://dl.doubtnut.com/l/_P7dVl1zTm0fc

35. Explain why an organic liquid vapourises at a temperature

below its boiling point in steam distillation.

o Watch Video Solution

36. In the organic compound CH 2=CH-CH 2-CH 2-C = CH, the pair

of hybridised orbitals involved in the formation of: C 2-C 3, bond is

A. sp-sp”2,

B.sp-sp”3

C.sp"2-sp”3

D.sp”3-sp”"3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lOSHlsOxLd7G
https://dl.doubtnut.com/l/_8JkNm8WeCYpI
https://dl.doubtnut.com/l/_sLzjipqERdQQ

37. Fill up the balnk. In Lassaigne's test for N, Prussian blue colour

is formed due to the formation of .....

A.Na_4[Fe(CN) 6]

B. Fe 4[Fe(CN) 6] 3

C.Fe 2[Fe(CN) 6]

D. Fe 3[Fe(CN) 6] 4

Answer: B

° Watch Video Solution

38. Which carbocation is more stable?

A.(CH 3) 3 CCH 2"+

B.(CH 3) 3C"+


https://dl.doubtnut.com/l/_sLzjipqERdQQ
https://dl.doubtnut.com/l/_7Sz1aacQiCFS

C.CH3CH2CH 2

D.CH 3 C"+ HCH 2 CH 3

Answer: B

o Watch Video Solution

39. The following reaction is classified
A. electrophilic substitution
B. nucleophilic substitution
C. elimination

D. addition

Answer: B

as:

| o Watch Video Solution



https://dl.doubtnut.com/l/_7Sz1aacQiCFS
https://dl.doubtnut.com/l/_UkGl7iZIzbXU

40. In the following table somé mixtures and their methods of
separation are given in a wrong order. Match them correctly.

'(##VPU_HSS CHE XI C12_E02 001 QO1##)'

o View Text Solution

41. Justify the following statements.

i. Water mixed with formic acid cannot be separated by fractional
distillation.

ii. o -nitrophenol is steam volatile while p-nitrophenol is not.

iii. Freshly prepared FeSO 4 solution is insisted during the test for
nitrogen in Lassaignes test.

iv. Copper spiral is used in the apparatus for Dumas method.

° Watch Video Solution



https://dl.doubtnut.com/l/_UkGl7iZIzbXU
https://dl.doubtnut.com/l/_tUaBj83GHw50
https://dl.doubtnut.com/l/_WDR3cR2mRGwV
https://dl.doubtnut.com/l/_NlDpnRMsvtb2

42. The mobile and, stationary phases used in different
chromatographic techniques are given below in the table. Fill in
the blanks.

'(##VPU_HSS CHE X1 C12_E02 003 QOT##)'

° View Text Solution

43. A mixture contains two components A and B . The solubilities of
A and B in water near its boiling point are 10 grams per 100 ml and

2 g per 100 ml respectively. How will you separate A and B from this

mixture?

° Watch Video Solution

44. Without using column chromatography, how will you separate

a mixture of camphor and benzoic acid?



https://dl.doubtnut.com/l/_NlDpnRMsvtb2
https://dl.doubtnut.com/l/_m5XzoUxfAIFQ
https://dl.doubtnut.com/l/_qwK1pNGewPEe

| o Watch Video Solution

45. A mixture containing benzoic acid and nitrobenzene is given to
you. Using an appropriate chemical reagent, how will you proceed

to separate them?

° Watch Video Solution

46. By passing chlorine gas through a colourless solution, we get
bleaching powder.
(a) What happens if CO; is passed instead of Cl, ?

(b) When CO, is passed in excess, what changes can you observe?

o Watch Video Solution



https://dl.doubtnut.com/l/_qwK1pNGewPEe
https://dl.doubtnut.com/l/_AJ501ABdGgjd
https://dl.doubtnut.com/l/_HGUXcRPIGFuT

47. A magnesium compound which is used as purgative in
medicine, is converted to MgO on strong heating.
(a) Identify the compound.

(b) Mention any other use of the compound.

o Watch Video Solution

48. The bond line notations of the compound 2 - ethyl -1 -

dimethyl cyclohexane

o Watch Video Solution

49. How can you detect the presence of nitrogen in an organic

compound?

o Watch Video Solution



https://dl.doubtnut.com/l/_moSosRKYgeKy
https://dl.doubtnut.com/l/_WgXdN0ln0flM
https://dl.doubtnut.com/l/_6qSBxnzWOxgT

50. Some organic compounds are given below. Classify them into
alkane, alkene and alkyne.
a.CH 4

b.C2H2

c.C2HG6

d.C3H4

e.C_(10) H_(22)

f.C2H4

g.C3H6

h.C4H6

i.C 5H (12)

j. C_(20) H_(38)

° Watch Video Solution

51. What is the significance of CH5 group in homologous series?

s |


https://dl.doubtnut.com/l/_TUl5s6PPLPGb
https://dl.doubtnut.com/l/_7mZWF2SR3QFo

[ W Watch Video Solution ]

52. Draw the structures of the molecules represented by the IUPAC

names, Pent-3-en-1-ol and 2 Nitrocyclohexene

o Watch Video Solution

53. Draw the bond line structure of Cyclohexane

o Watch Video Solution

54. The IUPAC name of an organic compound is derived by
identifying the functional group and parent hydrocarbon chain,
Write the IUPAC name of

CH; - CH = (CH — CHy, — CH,COOH

° Watch Video Solution



https://dl.doubtnut.com/l/_7mZWF2SR3QFo
https://dl.doubtnut.com/l/_bgFvPyLizyJL
https://dl.doubtnut.com/l/_hDhII1VWjltS
https://dl.doubtnut.com/l/_4eB6JgYsOMte

55. Name the following compounds

'(##VPU_HSS_CHE X1 C12 E02 016 QO1##)'

° View Text Solution

56. Give the structural formula of the following

3 - hydroxy 4 - ethyl heptanoic acid

o Watch Video Solution

57. Give the IUPAC names of

0
|

o Watch Video Solution



https://dl.doubtnut.com/l/_4eB6JgYsOMte
https://dl.doubtnut.com/l/_OkBKpOfjQGHW
https://dl.doubtnut.com/l/_MAOXygZTajZD
https://dl.doubtnut.com/l/_3H6BsAefSwIJ

58. Outline the structural formulae of
i. 3 - methyl but -1-yne
ii. But -2- en -1- al

iii. But -2- en -1 - oic acid

o Watch Video Solution

59. Write the structural fomulae of
a) P - Nitroaniline

b) O - Ethylanisole

c) 2,3 -dibromo -1- phenylpentane

d) 4 - Ethyl-1- fluoro -2- Nitrobenzene

° Watch Video Solution



https://dl.doubtnut.com/l/_3H6BsAefSwIJ
https://dl.doubtnut.com/l/_Fc7I3nSFDk1f
https://dl.doubtnut.com/l/_y3VDXYYjMCEr

60. Categorize the following as nucleophile and electrophile : a)

HS~ b) BF; c) NO, d) CoH50 e) (CH;),N ) NH,

o Watch Video Solution

61. Draw structures of all isomeric ethers corresponding to

molecular formula C 5 H (12) O.

o Watch Video Solution

62. Which is more stable [(CHj;),C "OR CH3;CH,"] Give a

reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_4DE8LbmQEeFd
https://dl.doubtnut.com/l/_vAIAvTG7MXWx
https://dl.doubtnut.com/l/_0eTzXSvjOOS4

63. Write the names of the compounds represented by the
following bond-line notations.

'(##VPU_HSS CHE Xl C12 E02 025 QO1##)"

o View Text Solution

64. Give the IUPAC names of the following:

'(##VPU_HSS CHE XI C12 E02 026 QOT##)’

o View Text Solution

65. Write thé IUPAC names of the following compounds

'(##VPU_HSS CHE X1 C12 E02 027 QOT1##)’

o View Text Solution



https://dl.doubtnut.com/l/_HQVwhWrMgp7y
https://dl.doubtnut.com/l/_tSTnrTGyixKZ
https://dl.doubtnut.com/l/_qh6c4yXdsaiG

66. Give structural formullae of the following:
(i) 2-nitropropane

(ii) 2,4 -dinitrohexane

(iii) 3,4 - dimethyl -1,2 - dinitrobenzene

(iv) m-nitroaniline

° Watch Video Solution

67. Sometimes a red colour is not produced in the Lassaignes test
even if both nitrogen and sulphur are present in the Organic

compound. Explain

o Watch Video Solution

68. Carbon shows tetra covalency. lllustrate with two examples

o Watch Video Solution



https://dl.doubtnut.com/l/_pp3Bh9txFnQb
https://dl.doubtnut.com/l/_2UDkEwcaDejc
https://dl.doubtnut.com/l/_3Rd7lgWxlqiK

69. Give polygon formulae of
(i) Cyclopropane
(ii) Cyclopentane

(iii) Cyclohexanol

o Watch Video Solution

70. Draw Polygon formulae for the molecular formula C 5 H (10)

o Watch Video Solution

71. Identify the reagents shown in bracketts as nucleophile or

electrophile CH;COCH; + [CN ~ | — (CH3),C(CN)(OH)

o Watch Video Solution



https://dl.doubtnut.com/l/_3Rd7lgWxlqiK
https://dl.doubtnut.com/l/_HqwrBOnvItOw
https://dl.doubtnut.com/l/_cqzXru9xYLgE
https://dl.doubtnut.com/l/_pjcOSBw8jmMk

72. How many isomers are possible for monosubstituted and

disubstituted benzene?

o Watch Video Solution

73. Which of the following compounds shows geometrical
isomerism?

(i) Pent-1-ene

(ii) 2-Methyl but-2-ene

(iii) Pent-2-ene

° Watch Video Solution

74. What is the relationship between the members of following

pairs of structures? Are they structural or geometrical isomers or


https://dl.doubtnut.com/l/_Hea9w98VtwB9
https://dl.doubtnut.com/l/_ALPpZReeBTFq
https://dl.doubtnut.com/l/_FC5Mkjc39S6q

resonance contributors?

o Watch Video Solution

75. In which C-C bond of CH 3 CH 2 CH 2 Br, the inductive effect is

expected té be least?

o Watch Video Solution

76. Write the structural formula of the following compound. Pent-

4-en-2-ol

o Watch Video Solution



https://dl.doubtnut.com/l/_FC5Mkjc39S6q
https://dl.doubtnut.com/l/_YyGyPDfp3rpl
https://dl.doubtnut.com/l/_otfxKdJKzW6H
https://dl.doubtnut.com/l/_aOkKE19TVE09

77. Write the type of hybridisation of each carbon in the compound

CH; — CH = CH — CN

° Watch Video Solution

78.0.2475 g of an organic compound gave on combustion 0.4950 g
of carbon dioxide and 0.2025 g of water. Calculate the percentage

of carbon and hydrogen in it.

° Watch Video Solution

79. During nitrogen estimation of an organic compound by
Kjeldahls method, the amimo- nia evolved by 0.5 g of the
compound neutralised 10 mL of T M H 2 SO 4 . Calculate the

percentage of nitrogen in the compound.

° Watch Video Solution



https://dl.doubtnut.com/l/_aOkKE19TVE09
https://dl.doubtnut.com/l/_7pLAaFWmbE8D
https://dl.doubtnut.com/l/_UCm3aE3a1ZO2

80. In the Carius method of estimation of halogen, 0.15g of an
organic compound gave 0.12g of AgBr. Find the peecentage of Br in

the compound.

o Watch Video Solution

81. A mixture contains 71 per cent of calcium sulphate and 29 per
cent of camphor. Name a suitable technique of separation of the

components of the mixture.

o Watch Video Solution

82. Expain the reason for the fusion of an organic compound with

metallic sodium for testing nitrogen, sulphur and phosphorus.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ad2r3YkTOniU
https://dl.doubtnut.com/l/_OcStVQ9Wmul4
https://dl.doubtnut.com/l/_d2vDNTA3mj1Y

8. Name a suitable technique for separation of the components

from a mixture of benzene (b.p.353 K) and aniline (b.p.-457 K)

o Watch Video Solution

84. Which of the following carbocation has the least stability?

methyl ethyl isopropyl tert - butyl

A. methyl

B. ethyl

C.isopropyl

D. tert - butyl

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qcR2zcfCascH
https://dl.doubtnut.com/l/_GUzUC7CLhLZG
https://dl.doubtnut.com/l/_Z5hFdaM212Ku

85. The shape of carbocation is?

A. Planar

B. Linear

C. Pyramidal

D. Tetrahedral

Answer: A

° Watch Video Solution

86. The molecule in which the distance between the neighbouring

carbon atoms is least iss:C 6H6C2H2C2H4C2H6

A.C6H6

B.C2H.2


https://dl.doubtnut.com/l/_Z5hFdaM212Ku
https://dl.doubtnut.com/l/_RX3c5fu6of9B

C.C2HA4

D.C2H6

Answer: B

o Watch Video Solution

87. The hybrid orbitals that will form the compound
CH; — C = C — CHy, — CH; are: sp, sp, sp, sp’, sp°, sp’, sp, sp
A.sp”3,sp
B.sp,sp”2
C.sp”3,sp”2

D.sp,sp

Answer: A

| o Watch Video Solution


https://dl.doubtnut.com/l/_RX3c5fu6of9B
https://dl.doubtnut.com/l/_XdaEaxc0NoGw

88. The IUPAC name for the structural formula:

A. 3,4 -dimethylhexane

B. 2,3 -diethylbutane

C. 2-ethyl-3-methylpentane

D. Heptane

Answer: A

° View Text Solution

89. Among the following, the one having longest chain is :

neopentane isopentane 2 -methylpentane 2, 2-dimethylbutane

A. neopentane


https://dl.doubtnut.com/l/_XdaEaxc0NoGw
https://dl.doubtnut.com/l/_mK4zRv3wzYXf
https://dl.doubtnut.com/l/_7rwO0PBVGYh0

B. isopentane

C. 2 -methylpentane

D. 2, 2-dimethylbutane

Answer: C

° Watch Video Solution

90. The IUPAC name of compound having formula (CH 3) 3 C-
CH=CH 2 s : 3,3,3 -trimethyl-1-propene 1,1,1 -trimethyl-3-propene 3,3 -
dimethyl-1-butene 1,1 -dimethyl-3-butene

A. 3,3,3 -trimethyl-1-propene

B. 1,1,1 -trimethyl-3-propene

C. 3,3 -dimethyl-1-butene

D. 1,1 -dimethyl-3-butene


https://dl.doubtnut.com/l/_7rwO0PBVGYh0
https://dl.doubtnut.com/l/_0eAcZuG0Mn8H

Answer: C

o Watch Video Solution

91. The general formula of cycloalkanes is

A CnH2n

B.C2H 2n

C.CnH2n+1

D.C n+1H n+2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0eAcZuG0Mn8H
https://dl.doubtnut.com/l/_5oVB6D3SRgZo

92. The IUPAC name of the compound CH3-CH=CH-C -= CH is Pent-2-

en-4-yne Pent-1-en-4yne Pent-3-en-1-yne Pent-2-en-5-yne

A. Pent-2-en-4-yne

B. Pent-1-en-4yne

C. Pent-3-en-1-yne

D. Pent-2-en-5-yne

Answer: C

o Watch Video Solution

93. The IUPAC name of the compound

'(##VPU_HSS CHE X1 C12_EO3 010 QO1##)'

A. 2 -isoprophylpropane


https://dl.doubtnut.com/l/_7kpizdbW0wAO
https://dl.doubtnut.com/l/_nXA22FTlc040

B. isobutane

C. 2,3 -dimethyl butane

D. 2, 3-dimethyl hexane

Answer: C

o View Text Solution

94. Which of the following is not a cyclic compound?

A. Anthracene

B. Pyrole

C. Phenol

D. Neopentane

Answer: D

| o wAr_o_L v l_ _ e~_ .. 0 _


https://dl.doubtnut.com/l/_nXA22FTlc040
https://dl.doubtnut.com/l/_keW2yQNFWr5Z

L T Vvvallll viGco o0iIutLivli )]

95. Which of the following compound does not have only one type

of hybrid carbon atoms?

A HC -=C-C = CH

B.CH 3-CH 2-CH 2-CH 3

C.CH 3-C=C-CH 3

D. CH_2=CH-CH=CH 2

Answer: C

o Watch Video Solution

96. Which of the following hybridization has maximum s-character?

A sp


https://dl.doubtnut.com/l/_keW2yQNFWr5Z
https://dl.doubtnut.com/l/_HYcs8Qo8F8he
https://dl.doubtnut.com/l/_ECXomQAvyyUG

B.sp”2

C.sp”3

D. All have same s-character

Answer: A

° Watch Video Solution

97. The IUPAC name of the compound :

'(##VPU_HSS CHE X1 C12_EO3 014 QO1##)'

A. 3-oxobutan-1-ol

B. 1-Hydroxy butan-3-one

C. 4 -Hydroxy butan-2-one

D. 2-oxobutan-4-ol

Answer: C


https://dl.doubtnut.com/l/_ECXomQAvyyUG
https://dl.doubtnut.com/l/_X6DmuWIOv5gG

o View Text Solution

98. Which of the following is purified by sublimation if impurities

are non-volatile?

A. Cane sugar

B. Naphthalene

C. Urea

D. Acetic acid

Answer: B

° Watch Video Solution

99. The boiling point of glycerol is 563 K but it decomposes below

563 K. It is purified by


https://dl.doubtnut.com/l/_X6DmuWIOv5gG
https://dl.doubtnut.com/l/_6eUTXfVlzlHw
https://dl.doubtnut.com/l/_uoKua3SYqkMo

A. sublimation

B. vacuum distillation

C.steam distillation

D. fractional distillation.

Answer: B

° Watch Video Solution

100. A mixture of acetone and methanol can be separated by

A. steam distillation

B. vacuum distillation

C. fractional distillation

D. sublimation


https://dl.doubtnut.com/l/_uoKua3SYqkMo
https://dl.doubtnut.com/l/_KWhJVvoZaeLd

Answer: C

o Watch Video Solution

101. Dumas method is used for the estimation of (1)Carbon

(2)Nitrogen (3)Sulphur (4)Halogens

A. carbon

B. nitrogen

C. sulphur

D. halogens.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KWhJVvoZaeLd
https://dl.doubtnut.com/l/_ufHZgcGvDWQ9

102. In Lassaignes test when both N and S are present blood red
colour is obtained. This is due to the formation of (1)Ferric
ferrocyanide (2)Ferric cyanide (3)Ferric thiocyanate (4)Ferric
hydroxide.

A. ferric ferrocyanide

B. ferric cyanide

C. ferric thiocyanate

D. ferric hydroxide.

Answer: C

° Watch Video Solution

103. Lassigne's solution on treating with sodium nitro prusside

solution gives a violet colour indication the presence of  in the


https://dl.doubtnut.com/l/_ZwMm8aRrys2p
https://dl.doubtnut.com/l/_1SSghO6LE5Ny

organic compound.

A. nitrogen

B. sulphur

C. halogen

D. both N and S.

Answer: B

° Watch Video Solution

104. Leibig method is used for the estimation of (1)Nitrogen

(2)Carbon and Hydrogen (3)Sulphur (4)Halogens.

A. nitrogen

B. carbon and hydrogen

C. sulphur


https://dl.doubtnut.com/l/_1SSghO6LE5Ny
https://dl.doubtnut.com/l/_HFQSkebRLbNk

D. halogens.

Answer: B

o Watch Video Solution

105. In the Dumas method for the estimation of nitrogen, the gas

collected in nitrometer is: (1)N2 (2)NH3 (3)N2+CO2 (4)CO2

AN 2
B.NH 3

C.N_2+CO 2

D.CO 2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HFQSkebRLbNk
https://dl.doubtnut.com/l/_Gfp4FE3eL41F
https://dl.doubtnut.com/l/_bzDf7p1M2s5Q

106. Carius method is used for the estimation of N C and H P

halogen

AN

B.Cand H

C.P

D. halogen

Answer: D

° Watch Video Solution

107.0.4 gm of an organic compound gave 0.188 g of silver bromide
by a halogen estimation method. The percentage of bromine in the

compound is ( at mass of Ag=108, Br=80)

A.39.8 %


https://dl.doubtnut.com/l/_bzDf7p1M2s5Q
https://dl.doubtnut.com/l/_p4mC32y3AEkP

B.46.0 %

C.20.0 %

D. 40.0 %.

Answer: C

° Watch Video Solution

108. In the Dumas method for the estimation of nitrogen, 0.84 g of

an organic compound gave 448 ml of nitrogen at S.T.P. The

percentage of nitrogen in the compound is

A.0.333

B. 0.667

C.05

D.0.6


https://dl.doubtnut.com/l/_p4mC32y3AEkP
https://dl.doubtnut.com/l/_OZznZRt5bNSR

Answer: B

° Watch Video Solution

109. Lassigne's solution on treating with sodium nitro prusside

solution gives a violet colour indication the presence of in the

organic compound.

A.Na_4[Fe(CN) 5 NOS]
B. Na_a[Fe(CN) 5 NOS]
C.Na 2[Fe(CN) 5]

D. Na_4[Fe(CN) 4 S].

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_OZznZRt5bNSR
https://dl.doubtnut.com/l/_8jhaq75LKAP8
https://dl.doubtnut.com/l/_SPsIZec7AtVw

110. In the Kjeldahls method, the nitrogen in the organic

compound is converted to Ammonium sulphate Ammonia Nitric

acid Nitrogen.

A. Ammonium sulphate

B. Ammonia

C. Nitric acid

D. Nitrogen.

Answer: A

° Watch Video Solution

111. Carius method is used for the estimation of N C and H P

halogen

A. N


https://dl.doubtnut.com/l/_SPsIZec7AtVw
https://dl.doubtnut.com/l/_1oinYsC8v8XF

B.Cand H

C.P

D. Halogen

Answer: D

o Watch Video Solution

112. Chromatography technique is used for the separation of

A. Small samples of mixtures

B. Dye stuffs

C. Plant pigments

D. All.

Answer: D

| o wAr_vr_L v l_ _ e~_ .. 0 _


https://dl.doubtnut.com/l/_1oinYsC8v8XF
https://dl.doubtnut.com/l/_WD0E7o7W2zjt
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113. 0.395 g of an organic compound by Carius mefhod for the
estimation of S gave 0.582 g of BaSO 4 The percentage of S in the
compound is

A.0.2024

B. 0.3562

C. 01224

D. 0.4065

Answer: A

° Watch Video Solution

114. The IUPAC name of the compound having the formula:

'(##VPU_HSS CHE X1 C12_EO3 031 QOT##)’


https://dl.doubtnut.com/l/_WD0E7o7W2zjt
https://dl.doubtnut.com/l/_dBVGdmnDj49U
https://dl.doubtnut.com/l/_6jjyGMUpLuAf

A. 3,3,3-trimethylprop-1-ené

B. 1,1,1 -trimethylprop-2-ene

C. 3,3-dimethylbut-1-ene.

D. 2,2-dimethylbut-3-ene

Answer: C

° View Text Solution

115. The IUPAC -name of the compound, CH 2=CH-CH(CH 3) 2 is, 1,1 -
dimethylpropene 2 -vinylpropane  3-methylbut-1-ene.  1-
isopropylethylene

A. 1,1 -dimethylpropene

B. 2 -vinylpropane

C. 3-methylbut-1-ene.


https://dl.doubtnut.com/l/_6jjyGMUpLuAf
https://dl.doubtnut.com/l/_1FxqZpBRdcEi

D. 1-isopropylethylene

Answer: C

o Watch Video Solution

116. The IUPAC name of the ofollowing compound is,
(##V PUySScHEx10125030335 — QO17£#)

A. 1,23 -tricyanopropane

B. 3-cyanopentane- 1,5 -dinitrile

C.1,2,3 -propanetricarbonitrile

D. propanetricarbylamine

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_1FxqZpBRdcEi
https://dl.doubtnut.com/l/_hcKXEGtxsBLU
https://dl.doubtnut.com/l/_laqLxNM0OCNn

117. The IUPAC name of the ether, CH 3 OC 2 H 5 is, ethoxymethane
methoxyethane methylethyl ether ethylmethyl ether

A. ethoxymethane

B. methoxyethane

C. methylethyl ether

D. ethylmethyl ether

Answer: B

° Watch Video Solution

118. The IUPAC name for,

'(##VPU_HSS CHE Xl C12 E03 035 QO1##)’

A. 1,1 -dimethylbutane- 1,3 -diol


https://dl.doubtnut.com/l/_laqLxNM0OCNn
https://dl.doubtnut.com/l/_By0pmnt477ir

B. 4 -methylpentane -2,4 -diol

C. 2-methylpentane-2,4-diol

D. 1,33 -trimethylpropane- 1,3 -diol

Answer: C

° View Text Solution

119. The IUPAC name of CH 3-C -= C-CH(CH 3) 2 is,

A. 4-methylpent-2-yne

B. 4,4-dimethylbut-2-yne

C. methylisopropyl acetylené

D. 2-methylpent-4-yne

Answer: A
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https://dl.doubtnut.com/l/_By0pmnt477ir
https://dl.doubtnut.com/l/_fqWwgizpOS04
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https://dl.doubtnut.com/l/_fqWwgizpOS04

